	Brain Freeze


	Brad stared through the dirty soot-smeared window on the 22nd floor of the office tower. Overcome with depression he slid the window open and jumped through it. It was a sheer drop outside the building to the ground. Miraculously after he landed he was completely unhurt. Since there was nothing to cushion his fall or slow his descent, how could he have survived the fall?


	

	
	Brain Freeze
A black dog stands in the middle of an intersection in a town painted black. None of the street lights are working due to a power failure caused by a storm. A car with two broken headlights drives towards the dog but turns in time to avoid hitting him. How could the driver have seen the dog in time?


	Brain Freeze
Four men sat down to play. They played all night till break of day. They played for gold and not for fun. With separate scores for everyone. When they had come to square accounts. They all had made quite fair amounts. Can you explain the paradox? If no one lost, how could all gain?



	Brain Freeze
She has hands but cannot hold, she has teeth she but cannot bite, she has feet but they are cold, eyes she has but without sight. Who is she?


	Brain Freeze

I make you weak at the worst of all times. I keep you safe, I keep you fine. I make your hands sweat, and your heart grow cold, I visit the weak, but seldom the bold. What am I?


	Brain Freeze
A man was in his car, and he was shot in the head. The man had no gun on him, no one was in the car with him all the cars windows, and doors were closed and locked. Not one window was hit by the bullet. How did the man get shot in the head?


	Brain Freeze

It goes up, but at the same time goes down. Up toward the sky, and down toward the ground. It's present tense and past tense too, come for a ride, just me and you. What is it?


	Brain Freeze

Three mountain climbers paid a lot of money to be the first to scale a mountain. After several days of climbing they finally reached the pinnacle, and to their dismay, found a cabin and three frozen bodies. Since the mountain climbers were the first to ever climb the summit, how could this be possible?


	Brain Freeze

If you go to the movies and you're paying, is it cheaper to take one friend to the movies twice, or two friends to the movies at the same time?


	Brain Freeze
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They were all musicians

	Brain Freeze
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Who said it was night time?

	Brain Freeze
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He was so sick of window washing, he opened the window and jumped inside


	Brain Freeze
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He was in a convertible 

	Brain Freeze
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Your fears 

	Brain Freeze
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A doll 


	Brain Freeze
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It's cheaper to take two friends at the same time. In this case, you would only be buying three tickets, whereas if you take the same friend twice you are buying four tickets.

	Brain Freeze
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They found a cabin of an airplane that had crashed there with 3 bodies in it

	Brain Freeze
[image: image9.png]



A See-saw  


	Brain Freeze

A tree doubled in height each year until it reached its maximum height over the course of ten years. 
How many years did it take for the tree to reach half its maximum height?


	Brain Freeze

Thousands lay up gold within this house, but no man made it. 
Spears past counting guard this house, but no man wards it. 

	Brain Freeze
Hundreds of us lie next to each other; Each white and fine — they've only one spine. I am the tongue that lies between two. Remove me to gather their wisdom to you



	Brain Freeze

A man while looking at a photograph said, "Brothers and sisters have I none. That man's father is my father's son." Who was the person in the photograph?


	Brain Freeze 
A woman was horrified to find a fly in her tea. The waiter took her cup and went into the kitchen and returned with a fresh cup of tea. She shouted, "You brought me the same tea!" How did she know? 


	Brain Freeze
A pet shop owner had a parrot with a sign on its cage that said "Parrot repeats everything it hears." A young man bought the parrot and for two weeks he spoke to it and it didn't say a word. He returned the parrot but the shopkeeper said he never lied about the parrot. How can this be?



	Brain Freeze
A psychologist goes to a village in Africa and decides to compare foot size to intelligence. He notes that in general, as foot size increases, so does intelligence. How can this be?


	Brain Freeze
A murderer is condemned to death. He has to choose between three rooms. The first is full of raging fires, the second is full of assassins with loaded guns, and the third is full of lions that haven't eaten in 3 years. Which room is safest for him?


	Brain Freeze
Two cops walked into a room with no windows and found a dead man who obviously hung himself from the ceiling, though they couldn't figure out how. There was no chair beneath him that he might have jumped off of, or a table. Just a puddle of water. How'd he do it


	Brain Freeze
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A book mark between the pages of a book

	Brain Freeze
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A beehive 

	Brain Freeze
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Nine Years. Because on the 10th year it doubled for the last time and reached the maximum height


	Brain Freeze
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The parrot was deaf 

	Brain Freeze
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She had already put sugar in it and when she tasted the new tea it was already sweet.

	Brain Freeze
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The man’s son


	Brain Freeze
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He stood on a block of ice until it melted.

	Brain Freeze
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The third. Lions that haven't eaten in three years are dead

	Brain Freeze
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He is measuring everyone's feet, including the feet of the very small children. So the statistics will show that larger feet belong to the smarter people, the adults.



	Brain Freeze

A horse is tied to a 15 ft. rope and there is a bail of hay 25 ft. away from him. Yet the horse is able to eat from the bail of hay. How is this possible



	Brain Freeze

A man was in his car, and he was shot in the head. The man had no gun on him, no one was in the car with him all the cars windows, and doors were closed and locked. Not one window was hit by the bullet. How did the man get shot in the head? 

	Brain Freeze
You are on a ship, over the side hangs a rope ladder with half meter rungs. The tide rises a half meter per hour. At the end of five hours, how much of the ladder will remain above the water assuming that nine rungs were above the water when the tide began to rise?


	Brain Freeze

A man takes a barrel that weighs 20 pounds, and then puts something in it. It now weighs less than 20 pounds. What did he put in the barrel?

	Brain Freeze 
Two men were playing tennis. They played five sets and each man won three sets. 
How can this be possible?

	Brain Freeze
Below is a short poem to help you determine the next letter in the sequence that follows: Both backward and forward I may go But just one way makes sense Don't you know So don't be confused, don't be surprised All you must do Is use your eyes What comes next?


	Brain Freeze
Tom and his younger sister were fighting. Their mother was tired of the fighting, and decided to punish them by making them stand on the same piece of newspaper in such a way that they couldn't touch each other. 
How did she accomplish this? 

	Brain Freeze
A man was walking in the jungle. He only had one bullet in his gun. But yet he shot a puma and a cougar. How did he do this?


	Brain Freeze
A man is kneeling on the pavement, replacing a wheel on his car, when he accidentally drops the four nuts used to hold the wheel on the car. Unfortunately, they fall into a deep drain, to be lost forever..A passing motorist offers him a solution which enables him to drive home. 

What is it? 



	Brain Freeze
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Nine rungs will be above the water. As the tide rises, so will the ship and the ladder. 


	Brain Freeze
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He was in a convertible 

	Brain Freeze
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\

\
The rope isn’t tied to anything, so the horse can go freely to anywhere it pleases. 


	Brain Freeze
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The letter s 

	Brain Freeze
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\

The two men were partners playing doubles. 

	Brain Freeze
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He puts a hole in the barrel to make it weigh less. 


	Brain Freeze
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The solution is to use one nut from each of the other three wheels

	Brain Freeze
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A puma and a cougar are the same animal. 

	Brain Freeze
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Tom’s mother slid a newspaper under a door, each sibling standing on each side. 


	Brain Freeze

A profoundly deaf man decided to make himself some shelves and, in order to do so, he went into a hardware store to buy a saw.  How did he indicate to the shop assistant that he wanted to buy a saw?


	Brain Freeze

A woman tries to drop her husband into the ocean, but he blows back into the boat.

	Brain Freeze
Why did running out of gas save Jacks life?


	Brain Freeze

Why was the man able to pass three cars going 70 miles-per-hour, while he was going only 60 miles-per-hour?


	Brain Freeze 
A man saw a large goose through while looking out the window. Why were both he and the goose soon dead?


	Brain Freeze
A man was pushed out of an airplane all alone, without a parachute. How was he able to survive?



	Brain Freeze
Agatha spent several days in the hospital. She wasn't injured, and she wasn't sick, but she did have to be carried out when she left though. Why was she in the hospital?

	Brain Freeze
How did John get his name in light at every theater in the country?


	Brain Freeze
You have a barrel of oil, and you need to measure out just one gallon. How do you do this if you only have a three-gallon container and a five-gallon container?


	Brain Freeze
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He was in the car in the garage, trying to kill himself with the carbon dioxide from the engine running

	Brain Freeze
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Her husband was cremated, and she tried to pour his ashes into the ocean, but it’s a windy day, and his ashes blow back into the boat. 

	Brain Freeze
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He said to the assistant, “ I would like to buy a saw, please.” Or he asked. 


	Brain Freeze
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The plan was sitting on the runway. 

	Brain Freeze
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The window he was looking out was on an airplane, and the goose was being sucked into the engine, causing the plane to crash./ Was driving and hit the goose causing an accident. 

	Brain Freeze
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The cars he passed were going in the opposite direction.


	Brain Freeze
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Fill the 3-gallon container with oil and pour it into the 5-gallon container. Then fill the 3-gallon container again and use it to fill the 5-gallon container the rest of the way. One gallon will be left in the 3-gallon container.

	Brain Freeze
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His name was Exit 

	Brain Freeze
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She was a newborn baby. 



